PINELLAS PARK

5141 78TH AVE. • P.O. BOX 1100 PINELLAS PARK, FL 33780-1100

Please Respond To:

James W. Denhardt, City Attorney
Lauren Christ Rubenstein, Assistant City Attorney
Denhardt and Rubenstein, Attorneys at Law
2700 First Avenue North
St. Petersburg, Florida 33713
(727) 327-3400 - Telephone
(727) 323-0888 - Facsimile



FLORIDA

PHONE

• (727) 369-0700

FAX

• (727) 544-7448

October 5, 2020

Mr. Kyle B. Arrison Stormwater Supervisor City of Pinellas Park P. O. Box 1100 Pinellas Park, Florida 33780-1100

RE: City Document #20-258

Annual Resurfacing Hillsborough County Piggyback Contract

Dear Mr. Arrison:

I have received and reviewed the above-referenced Contract, which is proposed to be a piggyback of Hillsborough County Bid/Contract #17182:229757 with Ajax Paving Industries of Florida LLC.

After review of all the items sent to our office, and a review of Pinellas Park's bid requirements in Section 2-602 of the City's Code of Ordinances, it would appear that the Contract between Hillsborough County and Ajax Paving Industries of Florida LLC, was secured through a competitive bidding process which is equal to or more stringent than the competitive bidding process required by Pinellas Park City Code. The memorandum provided by the Purchasing Department confirms they also believe this Contract may be piggybacked at this time.

As long as the items or services that the City wishes to secure from Ajax Paving Industries of Florida LLC, are substantially similar and their pricing is in accordance with the pricing provided in the Hillsborough County Contract, I am of the opinion that the Contract from

Mr. Kyle B. Arrison October 5, 2020 Page 2

Hillsborough County is able to be piggybacked. I would approve of the proposed City of Pinellas Park Contract documents as to form and correctness.

Very truly yours

James W. Denhardt

City Attorney

cc: Doug Lewis, City Manager

Diane M. Corna, MMC, City Clerk Patrick Murphy, Deputy City Manager Bart Diebold, Public Works Administrator

Dan Hubbard, Transportation & Stormwater Director

JWD/cb

20-58.10052020.LKBA.HC Piggyback Contract-17182.wpd



The Future is Riding on Ajax."

September 14, 2020

Attention: Mr. Kyle B. Arrison City of Pinellas Park 6051 78th Ave. Pinellas Park, FL

RE: "Piggy Back" ITB 17182, Miscellaneous Construction to repair and/or maintain Hillsborough County Public Works assets, BOCC No. 18-0898

Gentlemen,

Please be advised that Ajax Paving Industries of Florida, LLC will honor the subject Hillsborough County Contract unit prices for purpose of "Piggy Back" contracting with the City of Pinellas Park. These unit prices can be utilized for the like scope items for the term time limits of the City's annual 2020/2021 paving and milling requirements not to exceed the City's annual resurfacing program budget of \$1,200,000.00.

Sincerely,

Mark Miller Estimator Ajax Paving Industries of Florida, LCC



Ajax Paving Industries of Florida, LLC.

One Ajax Drive, North Venice, FL 34275 Phone: 941-486-3600 Fax: 941-486-3500 www.ajaxpaving.com

The Future is Riding on Ajax."

To:	City of Pinellas Park Piggyback of Bid #17182	Contact:	
Address:		Phone:	
		Fax:	
Project Name:	Miscellaneous Constructon Contract	Bid Number:	17182
Project Location:		Bid Date:	6/18/2018

Item #	Item Description	Estimated Quantity	Unit	Unit Price	Total Price
101-1-11	MOBILIZATION (SPECIAL - WO)	250.0000	UNIT	\$500.00	\$125,000.00
110-4	REMOVAL OF EXISTING CONCRETE PAVEMENT	4,500.0000	SY	\$50.00	\$225,000.00
120-5	CHANNEL EXCAVATION	3,000.0000	CY	\$25.00	\$75,000.00
120-6	EMBANKMENT	1,500.0000	CY	\$25.00	\$37,500.00
121-70	FLOWABLE FILL	500.0000	CY	\$110.00	\$55,000.00
160-4	TYPE B STABILIZATION	10,000.0000	SY	\$21.00	\$210,000.00
285-701	OPTIONAL BASE, BASE GROUP 01	10,000.0000	SY	\$14.00	\$140,000.00
285-704	OPTIONAL BASE, BASE GROUP 04	10,000.0000	SY	\$20.00	\$200,000.00
325-2 125	PAVED SHOULDER/DRIVEWAY APRON	2,000.0000	SY	\$14.00	\$28,000.00
327-70-1	MILLING EXISTING ASPHALT PAVEMENT (1" AVG DEPTH)	20,000.0000	SY	\$5.00	\$100,000.00
327-70-25	WEDGE MILLING EXISTING ASPHALT PAVEMENT	20,000.0000		\$5.00	\$100,000.00
327-70-6	MILLING EXISTING ASPHALT PAVEMENT (1 1/2" AVG DEPTH)	20,000.0000	SY	\$6.50	\$130,000.00
334-2-10	ASPH CONC TYPE SP-9.5 (TRAFFIC C) (1")	20,000.0000	SY	\$11.00	\$220,000.00
334-2-125	ASPHALTIC CONCRETE (TYPE SP-12.5) (1 1/2")	20,000.0000		\$13.50	\$270,000.00
400-3-15	CONCRETE CLASS III (MISCELLANEOUS)	1,000.0000		\$275.00	\$275,000.00
430-11-323	PIPE CONCRETE CULVERT (RCP) (CLASS III) (15" SS)	75.0000	LF	\$125.00	\$9,375.00
430-11-325	PIPE CONCRETE CULVERT (RCP) (CLASS III) (18" SS)	250.0000		\$135.00	\$33,750.00
430-11-329	PIPE CONCRETE CULVERT (RCP) (CLASS III) (24" SS)	500.0000		\$140.00	\$70,000.00
430-950	DESILTING CONCRETE BOX CULVERT	3,000.0000		\$115.00	\$345,000.00
430-984-223	MITERED END SECTION (CONC PIPE ROUND) (15" SD)	50.0000		\$750.00	\$37,500.00
430-984-225	MITERED END SECTION (CONC PIPE ROUND) (18" SD)	70.0000		\$800.00	\$56,000.00
430-984-229	MITERED END SECTION (CONC PIPE ROUND) (24" SD)	100.0000		\$950.00	\$95,000.00
520-1-10	CURB & GUTTER CONCRETE (TYPE F)	3,500.0000		\$45.00	\$157,500.00
522-1	SIDEWALK CONCRETE (4" THICK)	7,000.0000	SY	\$55.00	\$385,000.00
522-10	CONCRETE CURB RAMP (ADA) PER INDEX 304	50.0000		\$2,500.00	\$125,000.00
522-2	SIDEWALK CONCRETE (6" THICK)	3,500.0000	SY	\$65.00	\$227,500.00
530-1	RIPRAP (SAND-CEMENT)	1,000.0000		\$475.00	\$475,000.00
575-1-1	SODDING (BAHIA)	3,500.0000	SY	\$7.00	\$24,500.00
575-1 -4	SODDING (SAINT AUGUSTINE)	3,500.0000	SY	\$10.00	\$35,000.00
700-1-50	SIGN, SINGLE POST (RELOCATE)	30.0000		\$200.00	\$6,000.00
700-2-50	MULTI-POST SIGN, GROUND MOUNT (RELOCATE)	30.0000		\$2,500.00	\$75,000.00
	ROOT PRUNING	7,000.0000	LF	\$25.00	\$175,000.00

Total Bid Price: \$4,522,625.00

Notes:

- This Proposal includes ONLY those items and services specifically described above.
- This Proposal is based on ____ Mobilizations. Additional Mobilizations will require negotiation of price.
- Asphalt overruns due to pre-existing conditions, including soft base, subgrade or base tolerance will be an additional charge of \$100.00 per ton.

6/18/2018 12:14:04 PM Page 1 of 2

AJAX

Ajax Paving Industries of Florida, LLC.

One Ajax Drive, North Venice, FL 34275

Phone: 941-486-3600 Fax: 941-486-3500 www.ajaxpaving.com

The Future is Riding on Ajax."

То:	City of Pinellas Park Piggyback of Bid 17182	Contact:	
Address:		Phone:	
		Fax:	
Project Name:	Miscellaneous Constructon Contract	Bid Number:	17182
Project Location:		Bid Date:	6/18/2018

- Prices on this quotation are based on construction prior to September 30, 2018. Any construction after this date will be subject to increased prices
 of labor, materials and supplies.
- New customers and home owners associations may be required to provide a 30% deposit.
- Acceptance of this proposal confirms agreement with and incorporation of the standard terms of contract of Ajax Paving Industries of Florida, LLC.
 This proposal is binding on customer when signed and transmitted to Ajax by mail, PDF, or facsimile.
- The prices on this quotation are firm for 30 days from the date of this quote.

ACCEPTED:	CONFIRMED:		
The above prices, specifications and conditions are satisfactory and are hereby accepted.	Ajax Paving Industries Of Florida, LLC		
Buyer:	_		
Signature:	Authorized Signature:		
Date of Acceptance:	Estimator: Dave Reid		
	941-486-3380 dreid@ajaxpaving.com		

6/18/2018 12:14:04 PM Page 2 of 2